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Duration: One Hour
Date: 15.02.2025 . Time: 02.30 p.m- 03.30 p.m
Instructions:

e Statistical Tables are attached on the last page.
¢ Non-programmable calculators are permitted.

e Consider the level of significance as 0.05 for all the tests.

Question 01

(a) A farmer wants to know whether four brands of insecticides sav P;, P, P3, and Py,
produced by four different companies have the same effect on the yield of potatoes.
Assume that the farmer has 20 homogeneous plots of land prepared for growing potatoes.
(1) In relation to this study, identify

® Treatments
® Experimental unit

® Response variable

(i1) What experimental design you would select to perform the study? Justify your answer.

(iii) Briefly explain how you would design an experiment to solve the farmer’s problem,

(b) Instead of having 20 homogeneous plots as in ﬁ)art(a), if 5 lands, each containing 4
homogeneous plots are available,
(1)  What experimental design you would select to perform the study? Justify your
answer, I_
(ii) Briefly explain how you would design an ‘experiment to solve the researcher’s

problem.
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Question 02

(a) A researcher wanted to determine whether the 3 energy drinks 4, B, and C, differ in their
cffects on endurance. Six people participated.in the research and each person drinks each
energy drink. The response is time to exhaustion on a treadmill. The results of the

measurements are given in the following table.

Person | Drink 1 | Drink2 | Drink 3
1 42 48 62
2 36 34 48
3 54 56 75
4 44 46 52
5 28 32 44
6 45 50 65

(i) Write down the hypotheses to be tested.
(ii) Construct the analysis of variance table.

(iii) Test your hypotheses in part (i} and write down your conclusions.
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Appendix da

§ per cent Points of the F-distribution
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